‘II|||||II‘|||||||||||||||||II‘|||||||||‘I||||||II‘|||||||||‘III||||II‘IIII||||I‘II|||||II‘|||||||||‘II|||||||[|||||||[|‘IIII]II||||||||||||‘III||||||||||||||||‘III||I||||||]I|||||‘IIII|I|I|||||I|||I|‘

o6L 08, O0Zb 09 0SL oO¥L o0€L 02k OL 00L 06 08 0l 09 0S o¥ o€ 0c oL

00¢

Batch nr:

KV849-V1

Service * Assistenza * Dienstverlening * Serwis
Servis * Szerviz « CepBucHas cnyxo6a

Name ¢« Nom « Nome < Naam
Nazwa ¢ Jméno « Nazov * Név
Denumire « isim * HassaHue

Nr. « No. « N° « Homep * C « Sz

Typ * Type ¢ Tip * Tipus * Tipo
Tvn

A o 8x40 x48 L o= M6x8x15x15 | x14
B ) 10x40 x20 M g D9,8x37x60 | x4
c e 7X50 X8 N 0o D10X19 | x4
D 7x60 x4 P e D10x12 x4
E 6,3x105 X4 Clic-Clac

R mech. L x1
F M6x20 x4

S Clic-Clac X1
G M6x60 X2 mech. R
H M6X65 x4 T 3,5x35 x24

Spacer

J M6X70 | x2 u ] epacer | xi
K Mex75 | x2 v A 4mm X2



mats
KV84 servicekaardile


2/9

&

50 min

A 8x40 x48 L M6x8x15x15 | x14
B 10x40 x20 M go__um D9,8x37x60 | x4
C 7%50 X8 N R D10x19 | x4
D 7x60 x4 P e D10x12 x4
E 6,3x105 x4 Clic-Clac

R mech. L x1
F M6x20 x4

S Clic-Clac 1
G M6x60 X2 mech. R
3 M6x70 | x2 u ] ohacer 1 x1
K M6X75 | x2 v N 4mm X2




3/9

x48

x20

: 2xC

C QI 7X50 | x8

M g % DQ 8x37x60 x4




4/9

D10x19 | x2

D10x12 | x2

D10x19 x2

D10x12 | x2




5/9

M6x20

x4

M6x8x15x15

x4

2 4 |Clic-Clac

R mech.L x1
~ Clic-Clac

S mech.R x1

L O M6x8x15x15 | x4
G ) M6x60 X2
H M6Xx65 X2




6/9

4mm

6,3x105 | x4

/X

M6x8x15x15| x2

Om




7/9

X2

M6x8x15x15| x4

M6x75

K @\f‘_\nh\ DI

Spacer 68mm, x1




Spacer 75mm, x1

g— 3,5x35 | x13

T




9/9




	Text1: Batch nr:
	Text2: KV849-V1


